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https://archive-1446.islamqa.info/ar/answers/385629/%D8%A7%D8%B9%D8%B7%D8%A7%D9%87-%D9%88%D8%A7%D9%84%D8%AF%D9%87-%D9%86%D8%B5%D9%81-%D8%A7%D9%84%D8%B4%D8%B1%D9%83%D8%A9-%D9%85%D9%82%D8%A7%D8%A8%D9%84-%D8%A7%D8%AF%D8%A7%D8%B1%D8%AA%D9%87%D8%A7-%D8%AB%D9%85-%D9%85%D8%A7%D8%AA-%D9%81%D9%87%D9%84-%D9%8A%D8%AD%D9%82-%D9%84%D9%84%D9%88%D8%B1%D8%AB%D8%A9-%D8%A7%D9%84%D8%B1%D8%AC%D9%88%D8%B9-%D9%81%D9%8A%D9%85%D8%A7-%D8%A7%D8%B9%D8%B7%D8%A7%D9%87-%D9%88%D8%A7%D9%84%D8%AF%D9%87
https://archive-1446.islamqa.info/ar/answers/178463

il oS bl T o gay Lgie 2EELI oLl ass (el i)
Sl ol ol syl cga3l W 8 ,a ¥ Dne fsiays clasiy of caS il fpauisy of Lia 2,50
S EOVRPSCSVPP 0 [ PONUIR - ) 0.1 1 I FEN | PPN L | PP CT U NV PR INUPS AT [[POU (R TP

oo Basin 35 S0 el 1igd 1 ulls Jad LaS 8,109) Julhie Lgioad alillely s edliyloly Lyuiny s S5ll e 1ol o8
-g'ﬂ' KSJ_A.ZJIUM HOIRS PRt RRTES

el aulty

2/2



